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X, UFadR I U,z a2y, Zzfag | v, Xaraa | véraiame ? D ~Select—

Xis the brother of U. U is the daughter of Z. Y is the daughter-in-law of Z. V is the son of X. Who is the
mother of V 2
) X B U © z ™ Y
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af F7E Fleh 129 § 9 5 7, T 9 19T 6 19, S 3 6 9 & 3 7 o Feral 8, T ¥ I ANk c
1 e Fo fom ot i 22

(A) I (B) af © T (D) fem

If a person walks from 12 o’clock to 9 o’clock, then from 9 o’clock to 6 o’clock, and finally from

6 0’clock to 3 o’clock, in which direction s the person finally facing ?

(A) North (B) South (C) East (D) West

~Select—
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et AT AT ¥ for & SR o fieter g e | B Select-

(A) amEE (B) &ar il

(C) it (=) (D) e S
Barometer is to Air pressure as Anemometer is 1o .

(A) Temperature (B) Wind speed

(C) Humidity (D) Speed of aeroplanes
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wrz g i C ~Select-
T Fe o= idt: 2

Complete the analogy :
Iron : Fe :: Silver : 7

(A) Na ®) Cl € Ag ™) K

Choose File | No file chosen
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749 F AR A, B 3 C F el forafeer it st 8 1 A 5 B & 7 5 stfire et & S B T C w4 Al D
forere € | S Srer] T ST AR 2

The total amount of 49 is distributed among A, B, and C. A receives T 5 more than B and B receives T4

more than C, What is the ratio of their shares 7

~Select-
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) 21:14:12 (B) 14:16:12 (€) 21:16: 14 (D) 21:16:12
THFIE F IR, 50, 1,2, 3,4, 5,6,7, 8 MOFFT A, B, C, D, E, F, G, H, 1 30 J grer aertar smar D ~Select—
Ll

FAFEH[(C % D) + (F x ))/D FAATAFRI
According to a code, digits 0, 1, 2,3, 4, 5,6, 7, 8 and 9 are represented by A, B, C, D, E, F, G, H, Land J

respectively.
In this code find the value of [(C % D)+ (F x H}/D.
(A) 16 B) 15 © 19 o 17
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% 7% LANGUAGE' ¥ Teei 31T it ST sy f waet fow e, et site =i sy 1 of, oferd sfto o B
ST S el e ST Y | ST A & T e vt s A a2

If the first and second letters in the word ‘LANGUAGE’ were interchanged, also the third and the fourth

letters, the fifth and the sixth letters and so on. Which letier would then be the fifih letter counting from the

~Select-
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lef ?
A) G (B) A © N @ U
afte fo, o et 1 qu ifere - A CSelect- |

Complete the pattern given below :
D, DD, DDDD, DDDDDDD,

(A) DDDDDDDDDDD

(C) DDDDDDDD

(B) DDDDDDDDDD
(D) DDDDDDDDDDDDDD

Choose File ] No file chosen

Submit Objection

s § et e we i) D
Find the next number in the series.

88, 108, 130, 154,
(A) 160 @) 19 © 170 (D) 180

~Select—
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ﬁ(mwiﬁmﬁ:ﬁqﬁaﬁmwWﬁﬁ(lﬁ-ﬁ%wﬁﬁgﬂﬁ,\Jﬁtlnrwhﬁ A ~Select—
I

‘e e
“WHB
=
14%
et 77 = 1200 et FeA AT = 1000 Freim

e g A S g B AT st ) i E 30 9 Fareimm, e i i 40 st Rreom, i #
% 20 wfa Freimm, =1 vt # Fiwa € 15 3 e s smee 1 fa = 18 Wi e g, &t
TH A S B AR e W e e 7

(A) %52.260 (B) 52360 (C) ¥52.630 (D) 52,620

Study the pie-chart carcfully to answer the question given. The pie-charts show the percentage quantity of
fruits at two fruit shops A and

Shop B

30%

Orange

Total quantity = 1200 kg Total quantity = 1000 kg

1f Mangoes are priced at 30 per kilogram, Apples at 7 40 per kilogram, Oranges at % 20 per kilogram,
Other fruits at Z 15 per kilogram and Guavas at % 18 per kilogram in both Shop A and Shop B, what is the
combined price of all fruits at Shop A and Shop B ?
(A) 752260 (B) 752,360

(€) T52,630 (D) 752,620
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T LIS O I E 75% S o g et € 3 A wm A f A e en d s dram i A D
70%?@&;%%ﬁéumq§aﬁélm,mﬁéﬁwmvﬁﬁ%ﬁw 18 iz 1 7 AT e |
FH 7

(A) sofmfisfeser  (B) Lofmiisfedsr () sofrftsfaser (D) 100 Feftwfa ser

A train can travel 75% faster than a car. Both start from point A at the same time and reach point B,
70 kms away from A, at the same time. On the way, however, the train lost about 18 minutes while
stopping at the stations. The speed of the car is

~Select-
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(A) B0kmph (B) 110 kmph (C) 90 kmph (D) 100 kmph

Freaisfae & i e S e D [Selet- |
(A) FEan@ B) few=mm

(€) smfTaE (D) wet s fa

Which one of the following is #et the graphical representation of statistical data ?

(A) Bargraph (B) Histogram

(C) Frequency polygon (D) Cumulative frequency distribution
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SIS T 7% 1 S e FH O T H @ B E AL 5 9 A S w7 8 veer an et 5
Feafer 3, g e g e 7 feafar o sfegehrae 1103 o e 3w o SR aven o e fam i 2

(A) sEeaiET (B) afrgd (©) zm (D) afm-afam

Twelve students stand in a circle facing the centre and representing the hours of a clock with the first
student at the 1* hour position, second student at the 2° hour position and so on. In which dircction is the
student on the right hand of the 10 student with respect to him ?

(A) North-West (B} South-East (C) North (D) South-West

ST HEAT 1 |
Find the dissimilar number.
78, 104, 130, 156, 178
(A) 156 ®) 178 © 104 (D) 130

3 TefEl 1 o @ O, 80 R il & T o, 3w fan i 44 P A afy g
et g g #1 40 e a2

(A) 3607 (B) 440 . (C) 4207 (D) 4007,

What is the combined length of two trains when one, moving at 80 kmvhr, crosses another, travelling in the
same direction at 44 km/be in 40 seconds ?

(&) 360m (B) 440 m (©) 420m (D) 400 m

afz 95474 = GCBEB foram st 2, it 73453 %1 34 fere s 2
1£95474 is written as GCBEB, then how is 73433 written 7
(A) ACBEA (B) EABCA (C) AEBAC (D) AEBCA

Frtferfiae aTfereT =1 ST iR SR 7 Fa e |

[sr [M[iJk[r]afe]e[sJw[r[uJuln]r]Y]
‘aﬁz‘é 5 7‘3‘@‘1|2‘3‘4 %|9‘»‘s‘
jfm%wsmmu TR ?

. B

e T e W e & St St A O R, A A B 1S T wifed o s e
(&) 8%I58% (B) %615#% (©) 8615#% (D) 861548
Study the following table and answer the question.

Jtner [M[ 1 [k [T]a]B[E]s[w][F[u]ulp]r][Y]

‘Cndc‘(v"5"\‘7‘H‘@‘I|2‘3‘4 %|9‘#‘$‘
What is the code for BMJKPU as per the given table 7

Condition

If the first letter is a consonant and the last letter is a vowel, both are 0 be coded as the code of the vowel
(A) 8%I158% (B) %6154% (C) 8615#% (D) 861548

T 28, 126, 344, 1332, Frq i
Complete the series 28, 126, 344, 1332, "
(&) 2167 (B) 2197 (©) 2168 (D) 2198

ferm e Feret & ferer (e w9
Among the given options, choose the odd one out.
27, 125, 343, 512, 729
Ay 27 (B) 343 ©) 729 (D) 512

ot forg (7) % war s st 6 4 st st g |

Choose the appropriate figure from the Answer Figures to replace the question mark (7).

Q0[Q] »

I u it} w

A @“ ®) @" © ©° (D) @
o

it vrea T i |

TFANE : AT 1 FE 7
(a) fm (B) Tfer
© f= (D) T
Find out the related word.

Diamond : Baseball :: Court : ?

(A) Ring (B) Arena
(C) Rink (D) Squash
T TTeR W ST |

W?:Elﬂ.':'lﬂg:?
(A) T (B) s
© fm (D) ¥ AT

Find the related word.

Pi: Circle :: Phi: ?
{A) Pentagon (B) Rectangle
(C) Triangle (D) Golden Ratio
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Fe o, i o wlteon =i, it Frefertae wa w1 s | A ~Select-

X 3N ANES
[o/il\ 0] 0] O — s=mwmat
RN/

11— si=frgmdi
forere safer e T ot E 2
A) 45 ®) 75 © 55 ) 70

Examine the provided diagram and respond to of the following question.

A —> Persons who take tea

O —> Persons who take coffee

I:I —» Persons who take juice

How many individuals drink only coffee ?
(A) 45 B) 75 ©) 55 D) 70

Choose File | No file chosen
Submit Objection

150 BT 1 T T 8, 70 BT VR & I G, 60 BT A e F I g6 R 20 T MO 3w B —Select-
o o 3ol g | it 2 e i ol i o e e

In a class of 150 students, 70 students passed in Mathematics, 60 studemts passed in Chemistry and

20 students passed in both Mathematics and Chemistry. Then the number of students that failed in both

Choose File | No file chosen

Submit Objection

the subjects are :
() 20 (B) 40 (© 60 ®) 50

“TLSEEV” 3] 1 #ae 1 = F1 91H ¥ Iy | i =een fefifad § § #1-8 e 7= 3 B ~Select—

T & 2

Observe the arrangement of the series of letters “TLSEEV™, The logical arrangement can give which of the
following meaningful words ?

Choose File | No file chosen
Submit Objection

(A) VESSEL (B) STEEL (C) TEASEL (D) LEAVE
Fratfe s e T 52 “POTASSIUM® 3 e ST T et Tk AT SRR s et & 9 81 A —Select-
TTo3 ST T FHATE |

Determine which of the following words can be formed using cach letter of the given word
“POTASSIUM” only once.

(A) MASS (B) TOAST (C) MOUSE (D) POPPS

Choose File | No file chosen
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Az P, o+ W oA Q) % W W, R, <+ F A @ s, o Fr ol g, A c ~Select-
9QISP3R8S S FAATIR?
If *P* represents “+", “Q" represents ', ‘R’ represents “+* and ‘S’ represents ‘=", what is the value of

Choose File | No file chosen
Submit Objection

Choose File | No file chosen

Submit Objection

‘9QI5P3R8S
(A) 44 (B) 47 (©) 48 (D) 49
A men=m? mo+nd T mn=(m+n)’ mn BF @73)=(523)= c Select- |
If men=m?—mn+n and m?n=(m+nl—mn, then (2?3)=(5=3)=
(a) 433 (B) 978 (©) 361 (D) 876
waftre w1e i i - [ ~Select-
areft : sfteteT - S
(A) Wi (B) & (€) sieferm (D) =

Find the related word :
Elephant : Sri Lanka :: Kangaroo : ?
(A) India (B) England (C) Australia (D) Russia

Choose File | No file chosen
Submit Objection

e e 1 3 S g W ST el e & e, v W e o it A & 0w c ~Select-
e T st & T E

(A) v (B) it

© = (D) FHTEA

Pointing o a photograph, Madhu said to her friend Krishna, “He is the only son of the mother of my

father.” How is Madhu related to the person in the photograph ?

(A) Nicee (B) Grand-daughter

(C) Daughter (D) Cousin

Choose File | No file chosen

Submit Objection

; Select-
TS STER T 1 A e e e i | B slect
Fill in the blank to complete the given letter series,

ABC,GHI, __,STU
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(A) KLM (B) MNO

(C) JKL (D) LMN

s fafia Fe §, ‘GARB® F1 ‘HEAR® ferer e 2 | 38 7 # <DROP* 3t forrr s 2 D ~Select-
In a certain code, “GARB” is written as ‘HEAR’. How will ‘DROP” be written in that code ?

(A) EWXF (B) EUWG

(C) EUXG (D) EVXF

e e st o i e st fvfer oftfor o6 e -ama R shem w1 sageeor e 2 8 1 D k—_SeIect—
FO T AT AT AT AT A g T A |

et

L ot e s aam e #

11 T A ATet ST el 15 el e A 8 |

(A) et Feamd | srwo war & (B) e forod 11 e e

(C) @t faerd 1 11 srgeor e & (D) 7 ait e [ it & 11 st s &

Read the Statement and Conclusions given and decide which of the Conclusions follow(s) from the

Statement.

Statement - Red-haired people love riding bikes.
Conclusions

L All people love riding bikes.

Il Red-haired people love riding bikes only.

Choose File | No file chosen
Submit Objection

(A) Only Conclusion I follows (B) Only Conclusion 11 follows
(C) Either Conclusion I or 11 follows (D) Neither Conclusion I nor I follows
FHaifera T A i | [ ~Select-
Find the related number.
T:d48::12:7

(A) 121 (B) 84 © 143 D) 112

[ Choose File | No file chosen

Submit Objection
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ey 3w i s e e 45 Pt e i g, A o o f P e €

(a) IW (B)

© o

Which way would you face now if you turned 45 degrees to the lefi afier starting by facing north-east 7
(A) North (B) South

(C) West (D) East

71 3T 5 et 3 i o e & o e 90 fesft amd ot e & ot 5 et off e & A s s et

foig & Freeft 2@ 2
(A) 6 fw (B) 5 T
(© 7T (D) 4t

How far are you from your starting point when you walk § km north and then turn 90 degrees to your left
and walk another 5 km ?

(A) 6km (B) Skm
(©) 7km (D) 4km

T A ) TEAT A e i A # |
Identify the figure that completes the pattern.

AAIG O
A &

AA

Al ?
)

©)

o &Y

% foer W S T R S & ST A e SR A S R, A 65% & S | § e
(% ) Frar 2 7

I the selling price s tripled and cost price doubled, the profit would become 65%. So what is the present
profit (in %) ?

(A) 50% (B) 45% (C) 26.5% (D) 10%

0.7, 035, 1.05 %7 EaH F9Ee (LCM) 14 12 |
Find the LCM of 0.7,0.35, 1.05.
(A) 0.105 (B) 0.7 (© 007 (D) 21

N HEATE F AR 25 3 HI IHH A (HCF) ST, (LCM) 89T 3 307 105 & | 71 2T demst
A 1 AT A AT
‘The sum of two numbers is 25 and their HCF and LCM are 3 and 105 respectively. The sum of the
reciprocal of the two numbers is

5 5 3

6
w 2 ® © % © §

=il o sl oo o 2 = 4 T 25,000 =i i, 7R e a6t o e s s 4% s uh
a§ 2, it

An amount of ¥ 25,000 in 2 years at compound interest compounded annually, if the interest rate for the
successive years be 4% and 5% per annum respectively, is :

(A) T26,800 (B) T27,300 (€) T28,000 (D) T29,000

AT F A SR AR e v A AT w22 e ol s fee @ a@am i T
(faeftter )y ara i)

The speed of a boat along and against the current is 22 kmvhr and 18 km/hr respectively. Then the speed of
the current (in kmvhr) is

w 7 (B) 4 © 3 D) 2

o R O e 1 e 90 e e & 1209 3ifer st st & | af 7w st gea w10% g
g, v o A |

A shopkeeper marks the price of a book 120% above its cost price. If he gives a discount of 10% on the
marked price, then find his profit %

(A) %% (B) 65% © 110% (D) 60%

T T FT A T T 6,400 ¥ | TH S T A 25% AW SHSf e e # | fank 3w, aw st
T T 20% F1 g AT AR | 7 S e e € 2

The cost price of a table is ¥ 6,400, A merchant wants to make 25% profit by selling it. At the time of the
sale, he declares a discount of 20% on the marked price. Then what is the marked price ?

(A) 710,000 (B) 16,000 (€) 714,000 (D) 714,500

% L, % Ly,
A, B 5 C U o 37 F0 & 1 A Fer ol o1 33 3 % ke 2, B 2 ot aw 3339 Fkar s & e
C 3 Py o & | A ot o s # T AT 4,050 ST €T, A C @ B o o v fern &
A, Band C started a business. A invested 33 ;7% of the total capital, B invested 33 '5% of the remaining
capital and C, the remaining. If the total profit at the end of the year was ¥ 4,050, then find the amount by

which the profit of C exceeds the profit of B
(A) 7520 (B) 7900 (©) 675 (D) T700

C 1w w24 fodt # S D 16 el & 0 e # | 37w ang @ g o, S DF wE e &
& o e i e | it e e o g g 2

(A) 12 (B 10fm (©) 9.6f7 (D) 9fm

C can do a piece of work in 24 days and D in 16 days. They began the work together, but D left the work
4 days before its completion. In how many days was the work completed ?

(A) 12days (B) 10 days (C) 9.6days (D) 9days

110 T 3 5 1%, T AT I 0 € e 22 5 R e e an w2 |/ gwean
i e 3 i |

After selling 110 oranges, a shopkeeper claims that he makes a profit equal to the selling price of
22 oranges. Find the profit percentage of the shopkeeper

*) 2% (B) 75% ©) 25% (D) 80%

o T A 3 e g 16 et 3 o e s & s st v 6 6 Afeesdt @ 16 fe 6 g o w2 1R
1275 3 § i v B T A e w5 e e g e 2

() st B) afT © 3f\ ) 107

A work is done by 3 males in 16 days and the same work is done by 6 females in 16 days. If 12 males and
8 females work together, then they completed the work in how many days ?

(A) 5days (B) 4days (€) 3days (D) 10days

U SISt o Tl | Wi S H S F 600 12 AT ok U T GHRA o (10 ST A w5 75%
S fon & | e A AT A T S I 60% ST A i e e o A e ¢ | i
TS 1 78§ o S SAToreeres 1131 2 2t 2, 0 i S S A S 3 o e 2

A college has raised 75% of the amount it needs for a new building by recciving an average donation of
% 600 from the people already solicited. The people already solicited represent 60% of the people the
college will ask for donations. If the college is to raise exactly the amount needed for the new building,
what would be the average donation from the remaining people to be solicited ?

(A) %300 (B) 7700 (C) T400 (D) %3500
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25% 31 i wrawT TS w o i et we d i a2

(A) sad (B) l0ad ©) 6ad (D) 8ad
In how much time will an amount be tripled, at the rate of 25% per annum simple interest ?
(A) 5 years (B) 10 years (C) 6 years (D) 8 years

3 A S 1 2 2 B | A I FCAA 21 TG E, T S S+ T A | 7 A T A"
Hif

The ratio of two numbers is 1 : 2. If 21 is added to both numbers, then the ratio becomes 5 : 7. Find these
numbers

(a) 714 ®) 21,42 © 14,28 (D) 8,40

T T H 8% FaaTant ¥ T 7 A It | 6 G A, e o S & | frs e wat w7 48% W
T, S TR 1 110 1 & €0 3 & | A < s et s e oft 2

8% of the voters in an clection did not cast their votes. In this election, there were only two candidates.
The winner, by obtaining 48% of the total votes, defeated his contestant by 110 votes. The total number of
voters in the election was :

() 1210 (®) 1235 © 1220 (D) 2750

T AR T AT 3 100 BT o S0 ST 31 M0 0 @, T # 8.6 % 5w 6.8 fat (i e e
ftt ST 5.8 % €7 5 5T FATE | 9 ST DA At g s

A tabulator while caleulating the average marks of 100 students in an examination, by mistake enters 6.8,
instad of 8.6 and obtains the average as 5.8. Then the actual average marks of those students is

(A) 5818 (B) 5782 (©) 5881 (D) 5928

o T e % 48 Wi e ST 28 aff fr e s firem e it A T 40
afer et wr fersgor e w0 7

In what proportion must a grocer mix sugar at ¥ 48 per kg and % 28 per kg so that he makes a mixture
worth T40 per kg ?

A) 7:12 (B 1:4 © 2:3 D) 12:7

e ETgeR A et 10 /e A wrer § 4u e & | afe an o =er 5 et wf der gt ot ergen 60 et
ST (T 6 W) o e T g

(A) sH¢ (B) 10 (€) 68 (D) 45

A boy can swim in still water at a speed of 10 knvhr. If the speed of the current would have been S kmph,
then the boy could swim 60 km downstream (along the flow) in how much time ?

(A) Shours (B) 10hours (C) 6 hours (D) 4hours

IS § H, TEell o 1 S 15 2 S sitew diF ar sitad 16 3 | afe sift we 19 2, 9 weed sen
wE?

‘Out of four numbers, the average of the first three is 15 and that of the last three is 16. If the last number is.
19, then the first number is -

) 18 ®) 17 © 16 ) 19

Freferfias # 4 fm cerg) Frafm
Pick out the odd ane from the following :
1331, 1728, 2197, 2744, 3365
(A) 3365 (B) 2197 (© 1728 (D) 1331

Formaferfiaa i & faraw (arirg) F19fw
Pick out the odd one from the following :
5, 15, 60, 350, 1800
(A) 15 (B) 60 (©) 350 (D) 1800

o e 1 S SR FE G, S T Fw, S A 0 A e a2 & | 78 Afeen s §
TR A 2 7

(A) |f (B) () wer (D) T\

Pointing to a woman, Ashok said, “Her granddaughter is the only daughter of my brother”. How is the
woman related to Ashok ?

(A) Mother (B) Daughter (©) Wife (D) Mother-in-law

FEer: 3,7, 15,31,63, ...

ot 3 et g gt

Series: 3,7, 15,31, 63, ...

What is the next number in the series ?

(A) 97 (B) 114 © 127 (D) 135
T Y75 o e R S A R

(A) =t (B) erifae (©) W (D) sifig
Choose the word which is different from the rest

(A) Kiwi (B) Hornbill (C) Emu (D) Ostrich

O et H e Ha o = o fer gt o e e -

S, 2024 9F g 23 A28 A F ol |

e 3 e S |

S 60% ST 3 Tre A e & e dqoe et )

T 50 F A= 25 5 |

it gwfiaar & wre PG 7 &, it A A Hene wa e e E |

it JfiaaT $oe i Zpan Si T AT A 2, A e #1 g F ffee A e e |

i Feleam T H R STe e A A 1 A 8, A A e & P A
SR |

et ST % ST g dor o e il g o o =

TG : 56% 3F F T MCA. 5 fafer : 12 5, 1999 1 o fvers % 9 8 5 7d 1 o | e
55% ¥ 5T FR |

(A) ST St 25 Faaren v ot e o &

(B) a1 6T T F B A A A A e

(C)  Swiieam w1 = e o 4 oy s 2

(D) o1 s E

Consider the conditions for selecting faculty members in a School :

Age between 23 to 28 years as of April, 2024,

Work experience of minimum 3 years.

Postgraduate degree in relevant subject with at least 60% marks.

Minimun of 25 marks in the interview, out of 50,

If the candidate does not have PG, the case is to be referred to the senior faculty member,

If the candidate does not score minimum marks in the interview, the case is to be referred to

Principal of the School.

g If the candidate satisfies all other qualifications except the age limit, the case is to be referred to the
Board of Directors of the School

Which course of action should be taken for Sudha Ranjan based on the following information ?

Sudha Ranjan : MCA with 56% marks. Date of birth : February 12, 1999. 5 years of experience as a

teacher. Obtained 55% marks in the interview.

(A) Case s to be referred to the Board of Directors of the school

(B) Candidate is not to be selected as a faculty member

(C) Candidate is to be selected as a teacher

(D) Data is inadequate
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Find out the number of triangles in the figure.

(A) 20 (By 21 (C) 28 (D) 22

o et 6 & sj@en § s fom A it

Find the next figure in the series from the given options

© ©
@0 9
() ©
[0) an (1 ) ™)
©
A) |©XC (B) (©) A (D)

Tt # & smgfs o sfafda e Al af ado xy wer:
Find the mirror image of the figure from the following if the mirror is placed at XY :
X

Ol
KT L YT

e T i |
Find the odd one out.

o] (] |
o Of o|E| o 0] 0]

w WEUH X, Y S Z T A A Tk TR WA € | A HeE X wa e w6 8, S wsw v,
T Z 3 Sl o7 8, A A w2

®* Y ®) X © z D) X7z

A town has three streets parallel to each other named X, Y and Z. If street X is not the busiest, and street Y
is busier than street Z, which street is the busiest ?

A) Y ®) X © z D) XorZ
HEHH G 1 i |
Find the dissimilar number.
(A) 343 (B) 169 ©) 512 (D) 216
g g

T T 2
(A) wEfda (B) wi@em (©) gk (D) FamT
Complete the analogy

Heart : Circulate :: Lungs : ?
(A) Excrete (B) Breathe (C) Vision (D) Digest

S m@ﬁwﬁ%mwmmmwi 1 SR ST ()
T SR A Y

(A) TR (STRTT) (B) ST (R (C) Wi (zdies) (D) Feve (demm)

When a cube is sliced by a plane perpendicular to one of its diagonals, what is the shape of the resulting
eross-section ?

(A) Octagon (B) Hexagon (C) Trapezoid (D) Pentagon

17 srpfe Tl 1 gt v il |

Find the number of triangles in the given figure.

Ay 9 (B) 12 © 11 (D) 10

TR 24 I ST A AT £ :
The sum of the first 24 natural numbers is :

(A) 300 (B) 576 (© 325 (D) 600

T T H, i T e Al i we i A S | Pt 3 & wie-a e, Fan i a6
s  ft e e a2

In a elassroom, the number of boys is three times the number of girls, Which of the following totals cannot
represent the number of children in the class ?

(A) 20 B 24 © 22 (D) 40

T FE, A AT W AT F U 0w | e F e e A e

(A) dfF (B) fomm (C) (D) =&

Dhanesh said, “This girl is the wifc of the grandson of my mother.” Who is Dhancsh to the girl ?

(A) Hushand (B) Father (C) Father-in-law (D) Grandfather
Frafefias sier & e wen $ veam Fifsw -

Identify the incorrect number in the following series :
27,26,24,21 18,12
(A) 27 B 12 ©) 18 (D) 24

~Select-

Choose File | No file chosen
Submit Objection

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

~Select—
- Submit Objection

~Select—
Submit Objection

~Select-
2 Submit Objection

~Select-
2 Submit Objection

~Select-
2 Submit Objection

~Select-
- Submit Objection

~Select-
= Submit Objection

~Select—
‘ Submit Objection

~Select-
2 Submit Objection

~Select-
2 Submit Objection

~Select—
Submit Objection

~Select—

Choose File | No file chosen
Submit Objection



76

77

78

79

80

81

82

83

84

85

86

87

88

89

90

91

92

93

94

. H, 768 80T U

ST RS o i i e T ad fanen e 2 1 fararsh i seere & s F ot e
0 e vl 4 vt i 1 S A | R 3w e s e 3 A 3 g e e 1
=l 0 1 7T QoA R S e e 3 o w e 1 e w5 e G 56
T T e e A i o e O | g S @ g e et w1 e 1 3w w
ST SR ¥ for 2 i A T 1 e e 9t | St s A e i ford e Fer e E
v et 3 v | 3 S e i g 3 <A e e e |

T T T G e A
@) e (B) o afaE
() prTHFE (D) 3T T FATF I

TATE ST A T T I 1 AT A, S0 e I
(A) =THaW ST e (B) Ui HAR S == e
(€) T A 3 E e (D) Tty Faw ST e

g s E
(A) =& (B) T (©) #w (D) AT

TR T AT A, S ST T A
(A) femmsit (B) wEE (C) witmse (D) #wfeaE

et Es f fE b o A FE T A E
(A) Forar areHt, s qe (B foran =, forn e
(C) Feram &, o e (D) Téra e, e feimr

TR S 9 A A e g
() w=m (B) i ©) 8 (D) F@r

HeFHTe F1ag H e 9 #

() @ ®) (©) 7 (D) e
“FEAT 37ed i TS 2
(A) wHfEae (B) weft (©) (D) @

T T TR B TS F A AE R 7
(A) = (B) 39 (C) =% (D) st

T + BR F AT H Fnaferfid § & i e a2
(A) ¥ (B) FER (©) = (D) =R

ForE e W AN AT & AT o T s 9es 6
(A) wHiEd (B) A (©) fa (D) Fl

Frferfia # & aw  v15 &9 F1 =2 Fifa
(A) el S I FREH Eens |
(C) === =l %l e figemadt |

(B) ===l shi shieeht et flgeirait |
(D) T2 e =] T feaemait |

TR % ZHT AT 1 kR avl R e e g 2
(A) FFFH (B) e (€) it (D) RO

FfeTtia 3 3 -8 7o wifen S g A & 7
(A) =m (B) W (€) ™ (D) =m

30 fae =1 = Fiferg it e fag o e A an R

(A) HAM ¥ ez (B) =TT AT
(C) sum g (D) & fge g

Foeferfiaa # & a7 A wE G A g 7

(A) T FETIATTEATE | (B) Twrs@wEg T
(C) Femead e (D) wefter 3 3 i |
g o e o

(A) T AT T A F A (B) SHEFHIEEEEAT|

(C) = Sroft =i wies 44T | (D) g @ woft 1 witi T |

e % U e fored wn v o i s A A S e 2 2
(A) (B) T (©) == (D) faT=

T TRt qrenT W e #1 @ A e B g
(A) T T (B) e s fadt
(€) e fae (D) et e T

~Select-

Choose File | No file chosen
Submit Objection

Choose File ] No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

[ Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File ] No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

[ Choose File | No file chosen

Choose File | No file chosen

~Select—
~Select-
~Select—

Submit Objection
~Select—
~Select—
~Select—
~Select-

Submit Objection
~Select-
~Select—
~Select—

Submit Objection
~Select—

Submit Objection
~Select-
~Select-
~Select—

Submit Objection
~Select—

Submit Objection
~Select-

Submit Objection
~Select—
~Select-

Choose File | No file chosen

Submit Objection



95

96

97

98

99

100

101

102

103

104

105

106

107

108

109

110

111

112

113

114

S $eE AT R 7

(A) w9 B) 7@ (€) (D) =ga
Frefefian & & 95 7 1 =7 A :

(A) TEITGEFE| (B) o % s A E |

(C) T2 U T A | (D) =T 3T ) O e o e e E )
Tl T e AeHH Y AR

(a) famm (B) =it (©) fem (D) famw

i & o st e o Frefefia & & #ia e w T ga e 2
(A) FATEF (B) SR T (C) T FF (D) FHFTE

Toafetfian & & AT o1 st wea FHETE ?
() ™ (B) T (©) it (D)

T T (FEH) FEEE

(A) T (B) T aEa (€) Frem (D) s
ST 9753 1 W T ¢
(A) HATW-HARE (B) HAWI-ATH (C) HAH-FHd (D) FHa-HATH

Tormrel =1 4% W R ST AT e S W S e, T e e

(A) TR THTH (B) sr=EiTE gamE
(€) T T (D) eEife 7
fedr atarer # wri i ot den et 2 2

(A) 10 ®) 11 © 12 D) 13

ST R i diana SR S g A § e W F - T H 20
(A) s (B) Wt (C) am=m (D) °R A

T T T T E
(a) fafa (B) T (C) wea (D) Tt

g, A, ghor e F s € 0
(A) @wT (B) AT (Cy I (D) W&

ST | AT AT H F F AR
(A) TiCoEETE (B) wHa® (C) T (D) FTeETEE

ssferaner & fom S Fam 1 o e & et e e 2

(A) TieeT FREHT [T (B) W= QR
(C) Tl TS T (D) FTE TR
() 7 W ST e O 9 A | e 3 Fi 7 9797 =5 o ey |

(A) Tt (B) T © T (D) T
i FwE e

(A) TR (B) g © W% o &

Fafome o faem mea &

(A) =fw (B) fre () wafm (D) ww=
TR T3  f e s 7
(A) wfEmg T (B) =T (€) wfmasm (D) e FE

foretett e < for e & & i <o e =i e e s 2 2

(A) T (B) =wmen () Ggiferam @) R
Which fossil fuel is primarily used for electricity generation 7
(A) Natural gas (B) Coal (C) Petroleum (D) Uranium

Pttt & # a7 e e (st FIEETE 7

(A) =R A (B) R I (C) =er (D) Forate afsadt
Which of the following is an example of a non-tariff barrier ?

(A) Trade Agreement (B) Import duty (C) Quota (D) Export subsidy
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‘What is the importance of the Malabar Naval Exercise ?

(A) It addresses environmental issues

(B) It enhances naval cooperation among India, USA, Japan and Australia

(C) It facilitates trade agreements

(D) It addresses issues related to water pollution
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‘Which of these is considered to be the hardest substance in the human body ?

(A) Knee cap (B) Toe Nails

(C) Elbow (bone) joint (D) Tooth Enamel
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The Human Rights Commission in States is established under which of the following laws ?

(A) State Protection of Human Rights

(B) Protection of Human Rights Act

(C) Constitution of India

(D) The United Nations (Privileges and Immunities)
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In what ways does the Public Safety Act (PSA) of Jammu and Kashmir ensure internal security 7

(A) By ing dialogue and iation between conflicting parties

(B) By strengthening border security and surveillance measures

(C) By detaining individuals suspected of activities prejudicial to the sceurity of the state

(D) By enhancing community policing and engagement
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The Internet Technologies used by terrorists to spread terrorism are termed as :

(A) Bioterrorism (B) Narco-terrorism

(C) Ecoterrorism (D) Cyberterrorism
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When demonetisation occurs, the currency loses its
Legal money for any kind of transaction.

and is no longer of the status to be used as
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(A) Currencyvalue (B) Face value (C) Money value (D) Coin value
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When was National Food Security Mission (NFSM) launched ?

(A) Midof Dm Five-Year Plan (B) Endof 10" Five-Year Plan
(C) Mid of 11™ Five-Year Plan (D) Endof 11™ Five-Year Plan
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Which Indian has won the 2023 Ramon Magsaysay award ?

(A) Ravi Kannan (B) Gautam Adani (C) Kailash Vidyarthi (D) Anil Ambani
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Which Indian state is famous for the classical dance form Mohiniyattam ?

(A) Tamil Nadu (B) Kamataka (€) Kerala (D) Andhea Pradesh

Frefets & & F .91 SeEtHaT (= ) FERmE 7 D ~Select- |
(a) wgm (B) s ant (©) T (D) SR ST

Which of the following is the cause of Melanornia (skin cancer) ?

(A) Pollution (B) Acid rain (€) Allergens (D) Ozone depletion
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(A) i fomme i o s

(B) i & AT He o E AT ST A SeTHT SR F g F
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What was the main purpose of Indo—Sri Lanka Agreement signed in 1987 ?

(A) To establish economic corporation

(B} To resolve the civil conflict in Sri Lanka and ensure Tamil minority rights
(C) To promote tourism

(D) To develop nuclear energy
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Which of the following is/are subsets of wholesale inflation ?

(A) Housing Inflation only (B) Food Inflation only

(C) Walking Inflation only (D) Both Housing and Food Inflation

Choose File | No file chosen
Submit Objection



127

128

129

130

131

132

133

134

136

137

138

139

140

141

WA AT A e ?

(A) % STH ST fam iafatie o afad e e
(B) ¥ TAT=I ST SafiT T Wit F e

(C) 7= o1 3% W gt 5 v 1 et ear @

(D) = = SiewTe T2 F &

What is the *Startup India” initiative 7

(A) It provides subsidies for research and development activities
(B) It encourages innovation and entreprencurship

(C) It regulates the establishment of small and medium enterprises
(D) It provides tax incentives

ISR & T A AR ?

(&) = (B) d=m (C) Fer (D) et feredt
What is the name of the State Flower of Uttar Pradesh ?

(A) Gulab (B) Palash (C) Lotus (D) Water Lily

AT AT i S i & 4 e g 2

(A) e g (B) e ATE (©) = TET (D) 2w A

Basketball was said to have been “invented” by which of the following ?

(A) Cobum Haskell (B} Alfred Mynn (€) Charles Goodycar (D) Dr. James Naismith
o s o 2 e A1 SMS % Aven & R weem & 1

(A) T (B) = (€) $Fes (D) FefEfm
is phishing through some form of a text message or SMS,

(A) Smishing (B) Scam (C) E-mail scam (D) Catfishing

ST A A T

(a) fawm (B) sifeart (C) forawan (D) =it

What was the ancient name of Beas ?

(A) Vipas (B) Askini (C) Vitasta (D) Purushni

Toferias # 4 HiA-aT At e e w

(A) e (B) (©) TE (D) vifz=

Which among the following is mot an example of synthetic fibres ?

(A) Nylon (B) Cotton (C) Rayon (D) Polyester

o S =t e e e F A S 2

() == (B) e i (©) s (D) wéds

Which country is known as the “Land of the Rising Sun” 7

(A) China (B) South Korea (C) Japan (D) Thailand

“fifershl 7 AT T S aTe Tee S w8 2

(A) TH. HEERE (B) =t W

(C) wez AT AT (D) Ha =

Who was the first Indian to win the Nobel Prize in Physics ?
(A) S. Chandrasekhar (B) Homi Bhabha

(C) Satyendra Nath Bose (D) C.V.Raman
Fraferfiae weramTE anrsi § @ F - s s e

(A) FarwE (B) TEHEH

(€) wmEn (D) 3 Sreaifed w7 (F8=)
Which one of the following ocean currents is different from others ?

(A) Kuroshio (B) Gulf Stream

(C) Labrador (D) North Atlantic Drift

W wfrT % o Siesa & aRd Tt T ST T A §

(A) T 352 (B) =2 356 (C) = 360 (D) =R IT0
Under which Article of the Indian Constitution can the President proclaim a National Emergency ?
(A) Aricle 352 (B) Article 356 (C) Article 360 (D) Article 370

T AT U e e g ot o
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(C) TERaRAEE (D) U wE"

The book “War and Peace™ was authored by whom ?
(A) Alexander Pushkin
(C) Fyodor Dostoevsky

(B) Leo Tolstoy
(D) Anton Chekhov

Frffiaa # & #9-87 GST 371 i v AE 2 7
Which of the following is not a type of GST ?
(A) CGST (B) IGST (C) SGST (D) QGST

F A SR S reA g fee TE A 4 7

(A) =Tt s faess (B) Terreres e weR

(€) gamHEzEE (D) v fiE

Which freedom fighter is the author of the book “Intreduction to Dreamland”™ ?

(A) Bal Gangadhar Tilak (B) Vinayak Damodar Savarkar
(C) Subash Chandra Bose (D) Bhagat Singh

a1 3t festrea, v Fafi aemati o, w0 fodl %1 s wm e 7

(B) ¥ = (HE-HFe)
(C) e (elifvieafeen (D) wETEE (T
‘Which research design studies the same subjects over a period of time ?
(A) Correlational (B) Cross-sectional

{C) Longitudinal (D) Experimental

Tt AR ST (NHRC) 3 store i weet #1 frfes o g € 2

(A) Tl (B) AR (C) FrFaT 7o (D) fama

The Chairperson and the Members of the National Human Rights Commission (NHRC) are appointed by
the :

(A) President (B) Vice President (C) Speaker of Lok Sabha (D)  Finance Minister
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Rotation of crops means :

(A) growing different crops, on the same land, in succession to maintain soil fertility

(B) some crops are grown again and again

(C) two or more crops are grown simultaneously to increase productivity

(D) only one crop is grown

Hifer st e v g

(A) WA % S Sk o1 e B

(C) Tdra feshra wrtferat G T
What is the main function of NITI Aayog ?
(A) To manage India’s central bank

(B) T T A

(D) T o T&fT Sl a1 Watud A

(B) To oversee national elections

(C) To formulate national development sirategies (D) To manage India’s defence forces

for-geff ofyré gt w7 T ()
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(B) st s
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What s the main purpose of the Association of Southeast Asian Nations (ASEAN) ?

(A) Military cooperation
(B) Space exploration
(€) Regulating international trade

(D) Economic growih, social progress and cultural development

ittt 3 -8 T W i 357 TR F T I S 2
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(B) =% v FA (i)
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Which of the following taxes is not levied by the Central Government of India ?

(A) Income Tax
(C) Corporation Tax

(B) Goods and Services Tax (GST)
(D) State Excise Duty

e U g & ST fordr S 1 Al T & S G A S 5 2 e e i

T AT |
(A) s
(€ T e

(B) ZEHIR
(D) =AE

is a toolkit that targets financial services and enables hackers to build their own Trojan malware.

(&) Zeus
(C) Rakhni Trojan

it g 1 e T e g
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(B) Tiny Banker
(D) Spy Trojan
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In which city is the headquarters of the European Union located ?

(A) Geneva (B) Brussels

(C) Paris (D) Vienna
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The birthday of which leader in India is observed as Children’s Day ?

(A) Jawaharlal Nehru
(C) 8. Radhakrishnan

(B) Rajiv Gandhi
(D) Mahatma Gandhi
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Recently (as of March 2024), who was unanimously elected as Co-Chair of the Digital Innovation Board

of International Telecommunication Union (ITU) ?

(A) Sunil Mital
(C) Neeraj Mittal

(B) Aparajita Sharma
(D) Ajay Ranjan Mishra
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Which Indian ruler was defeated by the British in the Battle of Buxar in 1764 7

(A)  Mir Qasim
(Cy Tipu Sultan

(B) Siraj-ud-Daulah
(D) Haider Ali
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